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1 A—4 |BARI#ADO 0.36 0.31 0.27 Bh

2l B—8 |[#HAMKEE 0.17 0.17 0.17 B O

3 B—4 |E/8ifE{HE 0.35 0.26 0.21 £l

4 B—5 [HBARE 0.08 0.10 0.09 ED) O

5 B—5 |AhhAREE 0.10 0.10 0.10 £l O

6] B—5 |ERGEM){HE 0.09 0.08 0.08 =1 O

7 B—5 |XK(ERD) ik 0.11 0.12 0.13 £1) O

8] B—5 [FEZxE#I 0.10 0.11 0.11 ED) O

9] B—6 [THHALESE 0.10 0.10 0.10 BEh O
100 B—6__ [FiEIfhi 0.10 0.10 0.09 B
11 B—6 |FEMERSEDFEO){Fik 0.09 0.09 0.08 B O
12l B—6 [REfHE 0.09 0.08 0.08 ED) O
13] B—6__ [dlgifhi 0.09 0.09 0.09 Bh
14 B—6 |FHHABEFE 0.12 0.13 0.14 BEh O
15 B—6 |M/EAREERI 0.15 0.15 0.16 £ O
16 B—6 |XKREfEFR 0.11 0.12 0.12 £l O
17/ B—7 |/NAEFHIERE(EXRAENETIT) 0.13 0.13 0.13 AL @)
18/ Cc—3 [FARMEAAO 0.18 0.19 0.20 BEh
19 C—3 |$%/Ar=&Hih AOfHE 0.18 0.19 0.18 Bh O
200 C—4 |[#BOLU#A 0.17 0.16 0.15 B O
21 C—4 | FHX(BFHMEE ) 0.11 0.11 0.10 BEh O
22| C—4 [PX#EfHE 0.29 0.22 0.18 ED)
23] C—4 [BXRFTU—2BHU(RE) (1) 0.12 0.12 0.12 ED) O
24| C—5 [RBEEREfE 0.10 0.10 0.09 ED) O
25| C—5 |RLWLEME 0.14 0.13 0.13 £l O
26| C—5 |X&1% 0.12 0.12 0.13 ED) O
271 C—5 [TFEEEHNA 0.35 0.23 0.21 ED) O
28] C—6_ |5OFEALE 0.12 0.12 0.12 BEh O
29] Cc—6 |EIALNEEER 0.11 0.10 0.11 BEn O
300 C—6 [fBILTIEM#ADO 0.13 0.15 0.15 BEh @)
31 C—6 [T EMihEKhEFE LR 0.20 0.21 0.19 ED) O
32l Cc—6 [LATULAERI 0.10 0.12 0.12 Bh @)
33] C—6 [MEHIF{HE 0.12 0.15 0.14 BEh O
34| C—6 |[FEIREEEIHSHZTH 0.08 0.08 0.10 BEh @)
35| C—6 |IUTFHREEAtE 2—(HEAH) 0.09 0.09 0.09 B O
36| C—6 [|[IUTESZERAEA 0.30 0.24 0.21 Bh @)
37] C—7 [N\ AVEA 0.08 0.08 0.09 B O
38] C—7 | XKERXEE) 0.10 0.10 0.10 BEh O
39] c—7 |/NEEREZLER 0.12 0.13 0.13 BEh O
40 C—7 |EMFEEKIEMMIE 0.10 0.12 0.12 BEh O
41 c—7 |EBFEAEREMTE 0.11 0.12 0.11 BEh O
42 Cc—7 I E R 0.11 0.12 0.13 B [@)
43| C—7 |[EhEhh (BiEH15) 0.19 0.17 0.17 B O
4 C—7 | KRFHBHIERFHA 0.13 0.14 0.14 B O
45| C—8 [BBRGhME) 0.20 0.19 0.17 B O
46| D—2 [IBYY—rvkCCAO 0.19 0.17 0.18 Bh
47 D—3 [|PXFEW@E 0.20 0.19 0.17 Eh O
48] D—8 |HEARfEFMA 0.16 0.15 0.15 BEn O
49| D—4 |[SBh(GER) 0.14 0.12 0.11 BEn O
500 D—4 |EB4EE/ AR 0.15 0.16 0.17 BEn
51 D—4 | EPFXRLESE 0.13 0.12 0.11 Eh O
52 D—5 |FEHhpEElEhR 0.18 0.17 0.16 BEh O
53] D—5 [REE/INER (BFEIFHEID) 0.09 0.09 0.10 ED) O
54| D—5 |[BENERESEH 0.13 0.14 0.13 B O
55| D—5 |IBEMRAEREEH] 0.15 0.14 0.14 B O
56 D—5 |BE/BAOfHAE 0.13 0.13 0.12 BEh O
5711 D—6_ |}fAORYILI SR 0.11 0.11 0.13 BEn O
58 D—6 BFH—TU0E 0.08 0.09 0.08 BEh O
5] D—6 |[EFirOE#A 0.13 0.13 0.13 Bh
60/ D—6 |AXsA+FE 0.35 0.30 0.23 BEh
61 D—6 |HERBEIGEEN 0.37 0.30 0.22 B
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62| D—6 |FHEHEEFBIS 0.10 0.11 0.11 B O
63] D—6 |EFW=—a—437  (E) 0.08 0.08 0.08 BEh @)
64] D—7 |EBEAREFMA 0.14 0.15 0.14 BEh @)
65| D—7 |[FHEREBEHUIE 0.14 0.15 0.15 BEh O
66 D—7 INAEEHA 0.15 0.17 0.19 Bh @)
67] D—7 |[2)I|Hhis 0.12 0.13 0.12 BEh O
68| D—7 |EUILEE400mIESTHE 0.11 0.12 0.13 Bh @)
69| D—7 |FEHEERAO 0.12 0.13 0.15 Bh @)
700 D—7 [EEBEEAE 0.21 0.19 0.17 BEh @)
71 D—7 |Yv<IAIFEHTE )R 0.14 0.14 0.14 BEh O
72l D—8 |FEIIFHEHIE) 0.13 0.14 0.15 BEh
73 E—2 |WFEMME 0.22 0.20 0.18 BEh O
74| E—2 |E&F B 0.15 0.13 0.11 B O
75| E—3 |BR/EDihigE 0.32 0.25 0.21 Bh
76| E—4 |[BEAREEH] 0.08 0.07 0.09 BEh @)
77 E—4 [HEX /RN REEH] 0.15 0.13 0.11 BEh O
78 E—5 |FRRA LfHE 0.12 0.12 0.13 BEh @)
79 E—5 |E8ERAIfHE 0.12 0.12 0.11 Bh O
80| E—6 [—/Xi#A 0.11 0.13 0.14 BEh @)
81 E—6 | EEFER=FERmFE 0.12 0.13 0.13 Bh @)
82| E—6 [/NEAEHISAMA 0.11 0.10 0.09 Bh @)
83] E—6 |[XKBOEYSUF 0.27 0.24 0.24 BEh
84| E—6 |[EEGEHFAAA) 0.11 0.13 0.15 Bh @)
85 E—7 |FRIRERESEM R 0.28 0.29 0.26 BEh O
86 E—7 RIS ATER 0.16 0.15 0.16 BEh O
87 E—7 |ERAREERI 0.09 0.09 0.10 BEh O
88 E—7 |ERARERHFIRME 0.15 0.15 0.15 BEh O
89| F—4 [f/itfhE 0.24 0.25 0.22 Bh
90 F—4 |HEMREEL I—EIHISH 0.11 0.11 0.10 BEh O
91 F—4 |HPaEE A gttt 2 —HI 0.13 0.13 0.11 BEh O
92 F—5 [BAMA#HA(R289A/5500m% LFKE) 0.12 0.13 0.14 Bh O
93 F—5 |ZERARER 0.09 0.08 0.10 BEh O
94 F—5 |®Bt A2—ZEAiI 0.21 0.22 0.21 Eh
95 F—5 |[ZEEREEH/Oha 0.12 0.13 0.13 BEh O
%6 F—6 |&LEEKHADO 0.09 0.11 0.11 Bh O
97 F—6  |FIEHISETFIR 0.13 0.12 0.12 BEh O
98 F—6 |E&H/\RXEiTE 0.13 0.14 0.14 BEh O
99| G—1 LFERAF(FEE - XFKE) 0.15 0.14 0.13 BEh

100 G—3 |FAEAX LEIEHIS 0.12 0.12 0.12 BEh

101 G—4 |EFEKGRERGFEISH{TIR) 0.23 0.23 0.22 Eh

102] G—4 |SEEFhHA 0.11 0.10 0.10 Bh @)

103] G—5 |[IHEOEH)—HSTEIHIG S 0.18 0.17 0.15 BEh

104] G—5 [IFLEBEEHhE 0.10 0.10 0.09 BEh O

105 G—6 | XEBHEEEHR 0.08 0.08 0.08 BEh @)

106] G—6 [BEHFTFE 0.11 0.10 0.11 BEh O

107] H—3 |[HBF~EHig 0.09 0.11 0.11 Bh O

108] H—4 |[EECAFILEES 0.12 0.12 0.12 Bh

109] H-—5 |[EfRtELEEGEGEIIFTL) 0.17 0.17 0.16 Bh

110l H—6 [KERIEH#DEHE 0.11 0.11 0.13 BEh

111 1—3 Faoo o (GZ) 0.14 0.15 0.15 Eh

112 1—4 BFERICYHRTILAORME 0.08 0.09 0.09 BEh

113 1—4 BADE (1) 0.06 0.06 0.06 Eh

114 1—4 HRORXrJHAO 0.15 0.14 0.13 BEh

115 1—4 IBAELERRH L AR R A5 m CKE S ) 0.14 0.13 0.13 BEh

116 J—5 FELLEIES 0.08 0.10 0.10 Eh

117 K—=8 |HFrRILAOEFES 0.12 0.11 0.10 BEh

118] K—3 [BHFILLTA — - 0.03] 6/23(FFh) —

119] K—3 [BHAE4hA — 0.04] 6/23(fFHh) —

1200 K—8 [REEEEHMA 0.11 0.11 0.10 BEh

121 K—4 |ilif= — - 0.04| 9/27(F&Hh) —

122 K—4 |[#EE 0.04] 9/27(8&Hh) —
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